FgArea: [0 ]
NC11 G3-4
2025-06-06 (Day 25)




1200 ~

1000 ~

800

600

400 ~

200

1200 ~

1000 ~

800

600 -

400 -

200

1200 ~

1000

800 -

600

400 -

200 -

1 VI vs Du

o
L
)
o0

1000 1200 1400 1600

DU

800

0.9 -

0.8 -

0.7+

0.6

15.0 17.5 20.0 22.5 25.0

120 -

100 -

80 -

60 -

40 ~

—@— 1 setVI

10.0

1225 15.0 17.5 20.0 22.5 25.0

d
1 (fgArea = NA)

3500

3000

2500 -

2000

1500

1000 -

—@— ECI*10%
-0 ECO

10 15 20 25

1000 ~

800 -

600 -

400 -

200 ~

800 -

700

600 -

500 -

400 -

300 -

200 ~

100 -

- 2 VN

25

1000 ~

800 -

600 -

400 -

200 -

® 2Vl vs Du ®

©
1 J

1000 1200 1400 1600

DU

800

- 2FR

25.0

100 -

80 A

60 -

40

—@— 2 setVl

7.5 10.0
d
2 (fgArea = NA)

1225 15.0 17.5 20.0 22.5 25.0

4000

3500

3000

2500 -

2000

1500 ~

—@— ECI*10%
—@— ECO

1000 -

800 -

600 -

400 ~

200

10 15

20

25

1000 A

800

600 -

400 -

200 -

—&— 3 VWN

10 15

20

25

1000

800 -

600 -

400 -

200

3 VI vs Du

400

600

1000 1200

DU

800

1400

1600

- 3 FR

25.0

100

90

80

70

60 -

50 -

40 -

—@— 3 setVl

10.0

12.5 15.0 17.5

d
3 (fgArea = NA)

20.0 22.5

25.0

6000 -

5000 -

4000

3000

2000 -

—8— ECI*10%
-0 ECO

25

1000 ~

800 -

600 -

400 -

200 -

10 15

20

25

800 ~

700 -

600

500 -

400 -

300

200 -

100 -

0.8

0.6 -

0.4+

0.2+

0.0

1000 ~

900 -

800 -

700 -

600 -

500 -

400 -

300 -

200 -

4 V| vs Du

.
o0

400

1000 1200

DU

600 800

1400

1600

—e— 4FR

25.0

100

90

80 ~

70 -

60 -

50 -

40 -

—@— 4 setVlI

5.0

7.5

10.0 12.5 15.0 17.5

d
4 (fgArea = NA)

20.0 22.5

25.0

3500

3000 -

2500

2000

1500 ~

—@— ECI*10%
—@— ECO

25



.00 A

.75 A

.50 A

. 25 A

.00 A

.75 A

.50 A

I

—@— PHI*10%
—0— PHO

.50

. 00 A

.75 A

.90 A

.25 A

.00 A

.75 A

]
—@— PHI*10%
—0— PHO

10

15

20 25

.00

.15

.50

.25

.00

.15

.50

I

—@— PHI*10%
—0— PHO

10

15

20 25

.25

.50 A

I

[ —@—  PHI*10%
—0— PHO

I

.00 A

.75 A

.50 A

. 25 A

.00 ~

25



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 SRR

06:30 131 80.0 1.728 BE|  13#17006:30 KENFEF (GREAEESE)
07:30 131 80.0 1.728 5 Fi#A@07:30 KRENFEF (REEREE)
08:30 131 80.0 1.728 5 FiHA@08:30 KRENFZEF (RE{ERIEE)
09:30 131 80.0 1.728 5 FHER@09:30 AEIERF (KAL)
10:45 131 80.0 1.728 5 FiAe10:45 KEIEF CGREAERESE)
12:15 131 80.0 1.728 5 FigAe12:15 KREFEF CGREAEREE)
13:40 131 80.0 1.728 5 ER@13:40 RHIEF (KAKESE)
15:15 131 80.0 1.728 5 FifAe15:15 KREIEF (CGREAERSE)
23t]1048.0 (8%) 640.0 3 WHKEC: 3000.0, PH: 6.5

unusual large postFgEt from yesterday (266), set to 240.0 ml.
REXEIPH (10.48) 5iR7EPH (6.5) RER K, FEE
REXEBIPH (10.48) 5FPH (6.5) RERK, BHME




FRV (ml plant-1)

ET (ml/hr/plant)

G3-4_0, Day=25 (2025-06-06)
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G3-4

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:25 131 80.0 1.728 = {RRiB006:25 B (RFAKEE)
07:25 131 80.0 1.728 F BRi&e07:25 Bzl (GRAERRE)
08:55 131 80.0 1.728 |£=| 1Ri%@08:55 Bz (KAL)
10:15 131 80.0 1.728 FA| 1B2i%@10:15 B3h (kA{EREE)
11:55 131 80.0 1.728 FA| 1Bzi%@11:55 Bzh (RAERSE)
13:40 131 80.0 1.728 | =| 1Ri%013:40 Bzh (RAHERESE)
15:40 131 80.0 1.728 | =| 1Ri%e15:40 Bz (kAEREEE)
23| 917.0 (%) 560. 0 3EGHKEC: 3000.0, PH: 6.5

large discrepency for begining water status (159:246.0), set to 159 ml.
REXEBPH (10.56) 5iEPH (6.5) REK K, FEE
REXEBIPH (10.56) 5FPH (6.5) RERK, BHRE

LRGERIEC (2780.0) S5iRAVEY (2340.0) REK K, BHRE.

ERGERRPH (10.4) 5i&EE (6.5 RERKK, HERE.
LRGERIPH (10.4) S5#REIE (6.5) RERK, BERE,
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G3-4

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

06:30 131 80.0 1.728 = {RRiB006:30 B (RFAEEE)
07:30 131 80.0 1.728 = {RRi8007:30 Bzh (RAEEE)
08:30 131 80.0 1.728 5| {Ri%@08:30 Bz (FAMERSE)
09:50 131 80.0 1.728 = {BRiB009:50 Bz (FRFAEEE)
11:10 131 80.0 1.728 =] Rige11:10 B (GRFAEREE)
12:55 131 80.0 1.728 E| {Rige12:55 Bah (RE{ERSE)
14:30 131 80.0 1.728 F BRige14:30 Bz CGRAERESE)
15:45 131 80.0 1.728 =] BRi%e15:45 B (REAERSE)
23t]1048.0 (8%) 640.0 3 WHKEC: 3000.0, PH: 6.5

FERGEEIPH (10.84) 5igFEPH (6.5) REK K, AT
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EREEBPH (10.5) SR (6.5 WERK, HHRE.
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G3-4

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

06:35 129 80.0 1.728 = {RRiB006:35 B (FRFAKEE)
07:40 129 80.0 1.728 5| {RiR007:40 BHzh (GRAERESE)
09:15 129 80.0 1.728 = RRi8009:15 Bz (REAEESE)
10:35 129 80.0 1.728 = {RRiB@10:35 B (RFAEESE)
12:00 129 80.0 1.728 =l RRiBe12:00 B3 (REAKEE)
13:40 129 80.0 1.728 E| {Rig013:40 B3h (GRE{ERSE)
14:55 129 80.0 1.728 E BRige14:55 Bz CGRAERSE)
16:15 129 80.0 1.728 =l RRiB016:15 Bz (REAKEE)
23t+1]1032.0 (8%) 640.0 3 WHKEC: 3000.0, PH: 6.5

REXRERIPH (10.66) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.66) 5FMPH (6.5) REKK, FHE
LRGEBRIEC (2785.0) S5iREVEY (2340.0) REK K, BHRE.
LEORGEBIPH (10.7) 5i1&8EE (6.5) wERK, BRE.
LERGERPH (10.7) S5iRBIE (6.5) RERK, BRE.
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G3-4

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

07:05 95 80.0 1.728 = {RRiB@07:05 B (RFAKEE)
08:05 95 80.0 1.728 =] {Ri%e08:05 B (L)
09:20 95 80.0 1.728 = RRi8009:20 Bzh (REAEEE)
10:35 95 80.0 1.728 = {Ri%@10:35 B3 (RAERSE)
12:20 95 80.0 1.728 =] Ri%e12:20 B (RFAERE)
13:45 95 80.0 1.728 (2 =| 1BRiBe13:45 Bz (REEFREE)
14:55 95 80.0 1.728 |Z=| 1BRige14:55 Bzh (REERESE)
16:10 95 80.0 1.728 | =| 1BRi%e16:10 Bz (kAEREEE)
23t| 760.0 (8%) 640.0 3 WHKEC: 3000.0, PH: 6.5

REXRERLPH (10.48) 5i8EPH (6.5) REW K, BT
FEREIPH (10.48) 5FPH (6.5 REKK, AT
RERSEREC (1985.0) 5igTEEC (2500.0) REK K, BT
LRGERRIEC (2808.0) S51REIFEY (2340.0) RERK K, HHRE.
LEORGEBIPH (11.3) 5i&EE (6.5) RERKK, BRE.
LORGEBIPH (11.3) S5#REIEN (6.5) RERK, BRE.




G3-4_0, Day=21 (2025-06-02)
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